—( Dividing by 11 )—

Use the long division method to divide the following without remainders
88 =11 = d. 99 + 11 =
121+ 11 = e 132 =11 =
11+ 1= f 33+ 1=
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Dividing by 11 )7

Use the long division method to divide the following without remainders.

88 +11=_28 d. 99+ M= ¢
8 [«
88 1 99
- 88 - 99
00 0
So,88 +11=8 S0,99 +11=9
121+=1M=__1 e 132 +11=__ 712

il

—,
—
N

121 11 132
Il _nll
11 2
11 S0, 121 = 11 =11 - 22 | So,132+M =12
0 0
nN+=1=_ 1 f 23l=1=| 3
1 3
11 1] 33
11 33
0 0
So, 11 %= 11 = 1 So/53+11=3
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